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2 x=21 2)x=12 (3)x=3 (4)x=75
(BEHEO(3)xX2+3=2, £X2=2X3, xX2=6, x=6+2=3
(4)(x—15) +5=12, x—15=12X5, x—I5=60, x=60+I5=75
3 (1)800M (2)e¥®&36km (3)2: 1 (4)2km
(R O(1) 1040+ (140.3) =800 (M)
(2)53R1%, 15+25=06(km) =5 5, BEERIL 0.6X60=36(km).

IR 255 =23 s M 70, 1522 =36 (km) .

(3)0.6km?=600000m? 7<%~ %, 600000 : 300000=2: |,
(4)4 X 50000=200000 (cm) —> 2 km
4 (1)9:#&'Y) (2)5:& Y
(BB ()T DY 3, —DEld0, 5, 6D 3:#Y, MLL IS, +DMEs5, 6 DL =L —Dfkid
ZTNEN3RY) HEHHL, ©ET, 3X3=9GEEY ),
2D DY =, +DALILL, 5, 6D 3B, —DUAEDY X, +Dfld s, 6D2:BY H 5
5, 2T, 3+2=5GEY),

5 (1)36% (2)0216t
(BFED(1) 2 DRZ ) 120 - 12O DKRDERIL, 60X60X20+60X80X30=216000(cm*) — 216L,
L7455 T, 216+6=36(%).
(2K 216L=216kg. 1000kg=1t7#%5, 216kg=0216t,



